
 Unit 1 – 7 Polynomials   Name:    

	
Name	 Examples	 Non‐Examples	
Monomial	
(one	term)	

	ସݔ3 .1 	 	 	 degree:4	
2. ܽଶ	 	 	 	 degree:2	
3. 5	 	 	 	 degree:0	

		

	ସିݔ2 .1
2. 5√݉	

ݐ3 .3
మ
య	

Binomial	
(two	terms)	

1. 2݊ଷ െ ݊	 	 	 	 degree:3	
݌ .2 െ 3	 	 	 	 degree:1	
3. െ3ܽଷܾସ ൅ ܽସܾହ	 	 degree:9	

1. మೣశభ
ೣ
	

		

2. √ܿଷ െ 2	
		

Trinomial	
(three	terms)	

		

1. െ2ݔଷ ൅ ݔ2 െ 3	 	 degree:3	
		

2. ݀ሺ݀ଶ ൅ 2݀ସ െ 2ሻ	 	 degree:5	
			

ଷିݔ .1 ൅ ݔ2 െ 5	
		

2. 2௫ ൅ ݔ3 െ 5	

Polynomial	
(one	or	more	terms)	

ସݔ3 .1 ൅ ଷݔ2 െ ݔ5 ൅ 1	 degree:4	
	଺ݕ5 .2 	 	 	 degree:6	
3. భ

మ
௫మା√ଷ	௫యି଺௫ర ൅ ݔ1 െ 3	 degree:4	

		

ଷݍ3 .1 ൅
௣

௤
	

		

2. 2௫ ൅ 	ݔ√3

	
1.	EXPAND	and	SIMIPLIFY	(Also,	list	the	degree	and	leading	coefficient	of	your	answer).

a. 2x)(23)(7x       b.  (5x3 – 3x4 − 2x – 9x2 – 2) +  (3x3 +2x2 – 5x – 7) 

 
 
 
 
 
 
 

 
c. xx 8)5(3         d.     7265232  xyxyx          e.    xxxx 2652 22   
 
 
 
 
 
 
 
 
 
 
 
 

 

f.    51195852 233  xxxxx  g.   5332  xx    h.  252 x  
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								(1	Continued).	EXPAND	and	SIMIPLIFY	
i.  yyy 24 22      j. 7)-2y-(3y6y- 22    k.   53  xx  
 

 

 

 

 

 
   

l.        m.  

 

 
 
 
 
 
 

Determine	an	expression	that	represents:	 	 	 Determine	an	expression	that	represents:	
			

Perimeter	=		 	 	 	 	 	 Perimeter	=		
	
	
				Area	=		 	 	 	 	 	 					Area	=		
	

 
2. Divide		the	following.	

a. 
3

35

8a

2432a a
       b. 

2

34

3x

321x x
     c. 

3 5 2 3

2

36a d 72

6ad

a d
 

 
 
 
 
 
 
 
3. Factor the GCF from each expression 
a. 54 315 xx        b. 2416 2 x  
 

 
 

 
 
c. 556374 423618 yxyxyx      d.    3233  xxx  

 
 
 

b. 

d. c. 

a. 
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